
 

 

 

 

Nk=o`fRr o 'kqYd izfriwfrZ ds vkosnu i= esa fo|kfFkZ;ksa }kjk Hkjh tkus okyh 'kqYd izfriwfrZ 

dk fooj.k %& 

ch0,M0 izFke o"kZ 56492 

ch0,M0 f}rh; o"kZ  33572 

ch0,0 izFke o"kZ 8462 

ch0,0 izFke o"kZ ¼dyk oxZ ds fo|kfFkZ;ksa ds   

fy,½ 

8662 

ch0,0 f}rh; o"kZ 8322 

ch0,0 f}rh; o"kZ ¼dyk oxZ ds fo|kfFkZ;ksa ds   

fy,½ 

8472 

ch0,0 r̀rh; o"kZ 8542 

ch0,0 r̀rh; o"kZ ¼dyk oxZ ds fo|kfFkZ;ksa ds   

fy,½ 

8692 

ch0ch0,0 izFke o"kZ 39142 

ch0ch0,0 f}rh; o"kZ 39142 

ch0ch0,0 r`rh; o"kZ 25630 

ch0lh0,0 izFke o"kZ 39142 

ch0lh0,0 f}rh; o"kZ 39142 

ch0lh0,0 r̀rh; o"kZ 25480 

 


